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Chapter 6A Practice Test Sections 6.1, 6.2, 6.4, 6.5

Qultiple Choice g

Identify the choice that best completes the statement o'q answers the question. . 3
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Match the equation with its graph. . :
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Find the slope of the line.
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Find the slope and y-intercept of the-tine-—__
3. E/ 4y =-76 (/ Ldr—'— ’;‘@ Slope =~ 24—
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Find the x- and y-intercept of the line. 3 ;
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4. 2x+6y=-24

Graph the equation.
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Write an equatigh in pmnt—sIOpe form fthe line through the given point with the given slope.
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7. The rate of change (or slope) is constantin
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the table. Find the rate of change. Explain | ! b
what it means for the situation, -
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8. Find the slope of the line that passes through the palr of points. (-2, 8), (8, 1) j—-
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9. Write an equatlon of a line with the given slope and-y ; =3,b=6
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10. Find the slope and y-inte¥cept of the line.
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11. Use the slope and y-intercept to graph the e7uation.

y=%x—1 }{)’ W\;%
i

2 ,r"\

Ay ‘__,#/ 7

\




12.

13.

14,

15.

At Y e
: = T—:m
. v

19~ 14

\ Yo \éz,,
A student finds the slope of the line between (11, 19) and (16, 14). She writes . What
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Graph the equation. y =2 \6
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Find the slope of the line.
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Write the slope-intercept form of the equation for the line. V} §
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Werite the slope-intercept form of the equation for the line.
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State whether the slope isf0 or undefined. |
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20. A line passes through (5, 3) and (4, 5).

. a) Write an equation for the line in point-slope form. \=

Equation:_(}— 3= ‘-9“( ) )
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b) Change the equation from part a) into slope-intercept form.

Equation: ((J)(.‘; —Ax+ B \(/ m
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